HW-S1-Year 5

Solve Problems with Multiplication and Division

1. Smith Street School are taking all 179 children on a day frip to the seaside. The
children are put into groups of & but each group needs an adult. Complele the
senlence below fo thaw how many adulls are neaded.

+ = remainder ___

so ____ adults are needed.
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Solve Problems with Multiplication and Division

2. A garden cenire has 940 roses for sale and Is selling bunches of hall-a-dozen for £24
each. How much money can be made from selling all the roses?

1a. Which operation is needed? Explain
your answer.

A garden centre has 345 gnomes for sale
and is selling sets of 3 for £15. How many
sels of gnemes can be sold?

1b. Which operation is needed? Explain
your answer.

8 friends stay in a log cabin in the woods
for 4 weeks in the summer holidays. The
cabin costs £247 per day. How much
does the cabin costin total?

3. Anna wants to buy a sofa that costs £594. The shop will allow her te pay menthly, but
they will charge an addifional fee for this each month. Her monthly budget is £120 and
she does not want fo pay more than £700 in total. Which opfion should Anna choose?

Opflion A Optien B Oplion C
3 months with a & months with a 9 months with a
monthly fee of £19. monthly fee of £15. monthly fee of £12

2a. Is he comect? Convince me.

| have collected 374
conkers. | want to put
them in bags that each
hold 8 conkers. |
calculated that | will
need 4% bags.
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2b. Is she correct? Convince me.

| have 274 gel pels and
I want to put them in
pots on my shelf. Each
pot holds 7 pens. | have
calculated that | will
need 40 pots.

Challenge yourself.

Do not forget to learn your times table.

3a. Why does the remainder immediately
tell us the answer is incorrect?

827 +6=136111

3b. Why does the remainder immediately
tell us the answer is incorrect?

742+ 5=14717




Infroducing the Ralio Symbaol

Infroducing the Ralie Symbal

#4a. Thizs machine turns senfences info
ratios. Could this rafio be comect?
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Convince me.
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4b. This machine turns sentences inho
rafios. Could this ratio be comect?

There are
three fimes
s many
pencils as
rulers. For
every 3
pencils,
there are 2
rubbers.
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Convince me.
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Sa. Eoch child's shatement ks comect.
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Eb. Each child's siabement is corect.
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The rafio is 5:1.
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Explain how this is possible.
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restare green or blue.

Write down 3 soluions for the possible
ratio of red o blue bo green sweeks.

Draw counters fo support your answers.
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b, In & chas of 30 children, % are
hawing sandwiches for lunch. The rest are
hawing cook's choice or jocket patato.

Wirite down 3 solulions for the possible
rafio of jocket pofato to sandwiches fo
cook's choice.

Draw counbers to suppord your answer,
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